
  F[`mâÑ aÞ]ÔÐ`ÑW hÍwÐaórÞ ̀ eÑlÐ -2014 

`Í\c ̀ dÔàÐ¯ - NZÞ[ 

jc¯-1O 15cÞ   `ÍÒ[ÔL ̀ Íhðe cËmÔ 7 _cée   `ËÀ à jÕMÔÐ-105 

(jcª ̀ Íhðe Dre aÊTÐB ÒmM) 

1. jÐ_eÊ aX LÍÒc jSÐB ÒmM: 

 
2. ÒNÐÒV ̂ ÐXÞÒe AN `R ÒkÐB Í̀sÐ(P), cÊ²Ð_(M) J Òhé[Ð (S) RÞXÐ ÒkÐBR«Þ Ð ÒjcÐÒ_ ÒLÒ[ Í̀LÐe bÞ_ð bÞ_ð 

bÐaÒe RÞXÐ ÒkÐB`ÐeÞÒa? 

3.  7 $ÐLÒVÐeÞAm LÊ ÒmM«Þ 7!  Ð   d]Þ                               kÊH, [ÐÒkÒm                             ? 

 

4.  24Game ÒMfÒe 4VÞ jÕMÔÐ ]ÞAdBRÞ : 22, 9, 7, 13  Ð HkÞ 4VÞ jÕMÔÐLÊ \Òe \Òe aÔakÐe LeÞ cÞhÐB, 

Ò$XÞ, NÊZÞ aÐ keÞ 24 Òe `eÞZ[ Le Ð 

5. jefLe 

 

6.  192 V*Ð Ò]B ÒLÒ[ÐVÞ Lmc LÞZÐ NmÐ Ð d]Þ Lmc jÕMÔÐÒe 4 cÞhÐBaÐ [ÐÒkÒm Òj[ÞLÞ V*Ð Lmce ]Ðc Ð 

[ÐÒkÒm ÒLÒ[ÐVÞ Lmc LÞZÐ dÐB\ÞmÐ? 

7. [Þ_Þ @* aÞhÞ½      53 HaÕ 5      5 jÕMÔÐ]é¯ 3 ]éÐeÐ aÞbÐSÔ Ð d]Þ jÕMÔÐ]é¯e @«e$f 228 kÊH [ÐÒkÒm 

jÕMÔÐ]é¯e jc½Þ ÒLÒ[? 

8. d]Þ 20VÞ Acée LÞZÐ cËmÔ 16VÞ Acée aÞLÍ̄ -cËmÔ jk jcÐ_ [ÐÒkÒm h[LXÐ ÒLÒ[ mÐb aÐ l[Þ Òka? 

9. F[`mâÑe Þ̀mÐ* jÕMÔÐ 75 Ð JXÞhÑ hÞMÊ\ÞaÐ 22 SZ Þ̀mÐ* c^ÔeÊ 8 SZ Þ̀mÐ hÐ±Ñ¯ j=Ñ[ c^Ô hÞM«Þ Ð 

hÐ±Ñ¯ j=Ñ[ hÞMÊ\ÞaÐ Þ̀mÐ* jÕMÔÐ 18 ÒkÒm jcÊ]Ð¯ ÒLÒ[ SZ Þ̀mÐ NÑ[ aÐ _ÐQ hÞMÊ_ÐkÐ«Þ ? 

10. ÒLDÜ lÊ]Í[c jÕMÔÐ 5 J 7 ]éÐeÐ aÞbÐSÔ @\Q 3 ]éÐeÐ bÐN LÒm 1 bÐNÒhi eÒk?  

11.  0.25 WÐeÊ 0.01 h[LXÐ ÒLÒ[ Lc aÐ ÒahÞ ? 

12. @cÞ[ BÕeÐSÑ `eÑlÐÒe ÒhÍZÑe kÐeÐkÐeÞ _cée @Ò`lÐ 7 _cée Lc `ÐBmÐ ÒaÒf h¦Þ 10 _cée @ Þ̂L `ÐBRÞ Ð 

d]ÞÞ ÒSÔÐ[Þ `eÑlÐÒe 75 _cée eMÞ\ÐH HaÕ @cÞ[, h¦Þ J ÒSÔÐ[Þ*  kÐeÐkÐeÞ _cée ÒhÍZÑe kÐeÐkÐeÞ _cée 

jk jcÐ_ ÒkÐB\ÐH [ÐÒkÒm LÞH ÒLÒ[ _cée `ÐBR«Þ? 

13. ÒNÐÒV aeÒLÐfÞ NReÊ 1/5 bÐN ÒLÐfÞ F[`mâÑe TÞ@ cÐÒ_ MÐBÒm Ð aÐLÞ ÒLÐfÞe 80% Ề@cÐÒ_ MÐBmÐ `Òe 

jÐecÐÒ_ aÐLÞ ÒLÐfÞe 0.75 bÐN MÐB 20VÞ ÒLÐfÞ @_Ôc_* `ÐBÜ eMÞÒm Ð [ÐÒkÒm jcÊ]Ð¯ ÒLÒ[ aeÒLÐfÞ 

NRÒe \ÞmÐ? 

14. [ÊÒc SÐZÞ\ÞaÐ bNðÐÕhe _Þ¯c aÔakÐe LeÞ HkÞ SVÞf bNðÐÕhVÞLÊ jef Le Ð 
 

 

 

15. LÞRÞ Þ̀mÐ jÞÒ_cÐ Ò]MÞaÐ`ÐBÜ 12V*ÞA VÞLV LÐVÞaÐLÊ dÐB Ò]MÞÒm 36 V*Ð _Þ@Ã ÒkDRÞ Ð  Ò[ZÊ ÒjcÐÒ_ 7 

V*ÞA VÞLV LÐVÞmÐ`Òe Ò]MÞÒm 24 V*Ð afÞmÐ Ð  [ÐÒkÒm ÒLÒ[ SZ Þ̀mÐ jÞÒ_cÐ Ò]MÞ dÐB\ÞÒm? 
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